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LIFE SCIENCE 

LSE-02 : ECOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 

questions from Q. no. 2 to 6. 

1. 	(a) Define the following terms : 	 5 

(i) Ecesis 

(ii) Sciophytes 

(iii) Guilds 

(iv) Endemics 

(v) Eutrophication 

(b) 	Fill in the blanks : 	 3 
(i) A dark soil is usually rich in 	 

(ii) The capacity of an ecosystem to self 

regulate or self maintain is called 

(iii) In 	 plants, to minimise 

water loss their leaf size is either 

reduced or they are modified into 
thorns. 
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(c) State whether the given statements are 	2 

TRUE or FALSE : 

(i) Habitat is synonymous with the niche 
of an organism. 

(ii) Keystone species commonly determine 
the structure of aquatic communities. 

(iii) Ecological natality is always constant 
for a population. 

(iv) The amount of solar energy reaching 
the top of atmosphere is called solar 
constant. 

	

2. 	Differentiate between any four of the following : 	10 

(a) Primary and secondary production. 

(b) Steppes and savannas. 

(c) Pyramids of biomass and energy 

(d) Physical and chemical weathering of soil. 

(e) Natality and mortality. 

	

3. 	Answer the following : 

(a) Discuss the role of nitrogen cycle in the 	5 
ecosystem. 

(b) Briefly describe any five measures for wild 
life conservation. 

	

4. 	(a) What are the ecological adaptations in 	5 
animals to aquatic environment ? 

(b) Write the pollutants and sources of ground 	5 
water pollution in any two Indian cities. 
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5. 	Write short notes on any four of the following : 	10 

(a)  

(b)  

(c)  

(d)  

(e)  

6. 	(a) 

(b) 

Components of ecosystem 

Estuaries 

Appiko movement 

Biosphere 

Predation 

Explain the ways in which 

benefits rural masses. 

In what ways food web 

promote ecosystem stability 

a suitable example. 

social forestry 

relationships 

? Discuss with 

5 

5 
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4. 	(a) iotz:r 	(wit *. 	--q341.  if  1cTf 	5 
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